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ROUND2-G1
NEAL 4 il G- A TEC ~ ATH || Total
O Ien I < 9113 NN == 81 7—F v 18.34 7.86 || 26.20
2 |BETEE A (FRZN B - BEIRAE) 31 Avay 16.80 6.90 || 23.70
3 |WERE (A - VERT2BE) 38 T A— 16.52  7.02 || 23.54
4 | EER (Hf U - 1E1IB S5 79) 36 AVavvRvay 16.38 6.96 || 23.34
5 |kA —iE ([ LR R0 F L) 76 A—/3—1 g 15.96  6.90 || 22.86
6 |FRH AEK (ZEFNIR - B30 83 SN—F—L 15.54  6.66 || 22.20
TR X (FE I+ W) 83 SN—TF—L v 15.40 6.48 || 21.88
8 |ZK D (REAIR - BHAT) 80 /XA 7 — 14.84 6.42 || 21.26

ROUND2-G2
NEAL 4 il G- A TEC ~ ATH || Total
1 (g Bk (BB - B ARHLZE) 3b AV TVRLA 18.06 7.86 || 25.92
2 |HY% R (PRI - BRSZTHTIR) 9 A—s8—1 g 17.22  7.26 || 24.48
3 |FHE A (B BB - B EsR) 81 77— 17.08  7.26 || 24.34
4 LA kU (IR B I+ 355 5%) 84 Fx XL ¥ T/ —Hrr—|16.80 7.32 || 24.12
5 |8k K (FENE - mfaR) 83 SN—TF—L 16.66  7.44 || 24.10
6 M =N GRS TAV/= P ST ) 84 Fx X ¥ T/ —Hhrr—]|16.24 6.96 || 23.20
T s AAE CRUBR IR+ mUHR RS #E ) 84 Fx X ¥ T/ —H 2 —|15.68 6.78 || 22.46
8 |BAT EE (RII - KF &) 83 N—F—L 14.56  6.12 || 20.68

ROUND2-G3
NEAL 4 il BT & A TEC ~ ATH || Total
LAk = ONY N == 9 A— =1 A 18.34 7.74 || 26.08
2 |BHSE LEF (I B %+ 55 5%) 53 ayywrsrvay 17.08 7.20 || 24.28
3 |Mepk HRSE (FRRA I+ BUER 2 [ 76 A— 3=V g 16.80 7.08 || 23.88
4 |t B (AL - B A2 83 SN—F—1L 16.80 7.02 || 23.82
5 |HRA K (Fefd IR« SRR IR AR ) 83 N—F—1L 16.24 6.78 || 23.02
6 [/ HEE ORI« BN 2235 ) 3L W Hh 15.68 6.60 || 22.28
T (= EAE (RIS - B FBE) 9 A== 1 1l 15.68 6.48 || 22.16
8 |HMF  ZEEE (EARYR « 1T 52) 83 N—F—L 15.12  6.36 || 21.48
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ROUND2-G4
NEAZ £ Hi & Y 4 TEC  ATH || Total
1 |F EE (B ER - BER) 83 SN—F—L 17.50 7.50 || 25.00
2 |k Eme (e LR - F8 R0 L) 84 Fx X ¥ T/ —Hr 7 —|[16.94 7.32 || 24.26
3 L JEYD (] R - 1B %5 78) 76 A—/8—1 g 16.94 7.14 || 24.08
4 [EE BEE RO - INEFE) 36 A2 vRvay 16.66 7.20 || 23.86
5 |EH TS (FEINE - mad ) 36 T2 IRT gy 16.52 6.84 || 23.36
6 |iTiE AEE (PP IR - BRSZE ) 84 Fy A ¥ T/ —H 7 —|15.40 6.48 || 21.88
TOVER tE (B I« BRSZAR L) 3p TV AT VRLA 14.42  6.42 || 20.84
8 B kAN (REARIR « JUM Z2B52) 9 A— =1 g 14.56  6.24 || 20.80




